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va(av) =Q,k =)

P (A (k%0
2
[0063] b, KRIRIEARIREL, rR RIS IR+ MR AR BEREHERE , A RORAT R H £
[0064] A BH S it 9] 4 (1 1) 22 C2e = 4R HE AT SN2 A et 286 B AT LA BAR T 30T &
R e L) Tk S ) , BAR DR I AL A B
[0065] A BH S it 5] G PRek fy 230 /e o & b SR 22 N 04 () = 4R HE SR CTH R AR, AN 3G T
FRRRE , AEAEAE 5, SEIL I R B | R R AN T IR A, 5 T TRRESEI
[0066] &5 ERTIA , 4%k B SEHE A AH G T ILA R HESR CTHRRHR , AT 28 & R, A
FEAAE S B, R T CTEME i & 5 B PR & 2m T E Hs B 2 MR I = 4EHE R CTH
W Yem T R B R A TR R S XS SR i, T8 T CTHR R A& I Al A Rl 4% s 52
DR FE ] B = 8 AT LR, 2 T TSR
[0067]  fEAK B BT R AL JULANSERE I , BZ PR AR B, BT 48 i 10 235 B A 773k, n] DL
‘BT TSI, DA B RO 1 26 B S A AN D s PR 8 2, ik BT ) R4 5 X
PN — P B D Ee R 73, SEBR SEIRIN AT LA 53 BRI 4377 20, 451 70 22 4> B e BEH AR P DL 45
AECE T VERE] 75— R G0, Bl— e RRE A] DL 20 BUAS AT o 15— i, BT s BOT 1B 1Y
FHE. 2 8] A & BR EL A & BUB B IE 36T DL it — o4z 11, 4% B B T 1) [A) 42248 5 B0
G, AT DA f 1, ML L B I T .
[0068]  Fir ik A Ay 43 B A1 Ui BH ) B oo i) BASR B ] LA 23 4 T A N BT B
TN A AT A AR BB ] LA e 3 e, B m] DA, T — AN oy, B 0] L4 A1 Bl 2 A
W9 & B8 7 F o AT DARR A SC B 1) 75 B8 5 H o () 3508 40 B0 4 T 5 e ol SE IR AR SE i 91 7 R 1 B
1 o
[0069]  J3 4, FEAR I B 25 AN St 451 o (34 2% Dh e BT AT LAAR A — AN AL oo, ] DA
S B IT ) ERAFAE, AT DA AN B AN B _E SR TR R AE — AN SR TT o EIR AR R
TCRE P DLR FHAE A 1 T 0SB, AR AT DR FHAE R I FcE D se S e ) T ST
[0070] b 3R DARAF D e B Jn i 78 s SE IR AR i) B2 0 , AT RALAE B AR — i AL AT B2 A7
i o IR AE D BE BT ARG IE— MEE N P, AFEE TR FHULER — & i EL
WA (AT ATHEL, IR 55 25 , B W 45 150 4 55 ) BUAL B 5 (proce ssor ) TIAT A & B %
SE il A1) B 3R T3 1 R 8 43 28 BR o 1 B (R A7 4 A SRR < USE R Bl A . R A7 it 5 (Read -
Only Memory,ROM) BEANL/ZENAZE 2% (Random Access Memory , RAM)  Fif Rt B ' 44 25 & il
AT LUAEAE T ARSI A T
[0071]  ARGUREEAN Z AT LATE R 1 2], Sy R (1) 77 (8 i v, A BA Bk & D s s B
(%)X 7 BEAT 2845008 B, SEBR B F o, BT RAAR 48 75 220K 3k Dy B8 73 BC B AN [R] 1 D e AR B 52
Jfe > BIRE266 B ) P A5 A0 R 99 AN R K B Re A, A SE e BA B8 1) A Bl 38 8 7 D b
IR 1) 2 B BAR TAEE AR , 7T A S 008 T ik S8 i 4w et R R , 76 M AS B BOA
[0072] g J B U0 FH ) A < DA b 2% SR A A FH DA U0 BH A i BH IR B R 7 58, iAo HEBR i 5 =
B 2 AT IR SETE AT AR R I HEAT T PRGN UL, AR U T RN SRR A AR
SR AT LRI - SE it 451 i 0 28 1) B AR 7 S BEATAB 0L, B0 0 H v 3 40 B A AR AR R A 3

[0062] .vf(k+1) :f(k)+ (5)
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